Solutions:

[image: ]
_____________________________________________________________________________________

2)
[image: ]
_____________________________________________________________________________________

3)






4)
[image: ]
_____________________________________________________________________________________
5) a) -9		b) -5		c) +6		d) +7

_____________________________________________________________________________________
6)

[image: ]
_____________________________________________________________________________________
7)














8) 












_____________________________________________________________________________________

9)
a)
[image: ]

b)
[image: ]
_____________________________________________________________________________________

10)















11)














_____________________________________________________________________________________

12)
















_____________________________________________________________________________________

[bookmark: _GoBack]13)






image1.png
1 26 =2
a). 3 T3
.2 =05
)3 =
Z_0875
c).8 = 0.
100
d.— =4

**% notice —2 is an integer and a rational number.

**% any integer can be written as a fraction using 1 as the

denominator.

**% 0.8 isarepeating decimal and a rational number.

**% .875 is a terminating decimal and a rational number.

*** 4 is an integer and a rational number.
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Rational. It’s a fraction. Even as a terminating decimal, —0.25 it’s still
rational.

is 3. Rational. 3 is an integer.

4 _
5 is rational, it’s a fraction. Even as a repeating decimal, 0.4 it’s still
rational.

= 8.660254038... These numbers are non-repeating and
non-terminating decimals.

= 3.1415926535...
These types of numbers are called
irrational numbers, Q .
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Descending Order (from largest to smallest)
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a). 0.7 b).28 ). -72 d). —016 e). —0.25 f). 0.042
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2.21 + 9.14 + 3.21 = 14.56 No, he does not have enough.
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